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Please make sure that the printed pages in this questmn paper are 15 in number
and it contains 34 questions. -
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The Code No. on the top of the question paper should be wr-.:tten by the candidate
on the front page of the answer-book. -

o FYI T FH T [0GT Y& B G GBI, F9T F FHE 13%’3?'?5’2%3?!

Before begmmng to answer a question, its Serial Number must be written.

. THCYRTH F FT F @ v o T 6

Don’t leave blank page/pages in your answer-book.

" WW%GWW%??WW?F%?Wf 37T Wﬁﬂﬁ?jﬁ?@?ﬁzﬁ‘&ﬁ?mw JaT T -
ey
Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

o TS o TeT To FET-T T S G 0 o %W&awawwwggﬁa
g ol dafeqs godl % TN OT 6 FEIT H 9T T

Candidates must write their Roll No. on the question paper. Except Roll No. do not
© write anything on question paper and don't make any mark on answers of objective

type questions,
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Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained aﬁer
examination.
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General Instructions :

(i) & 797 I &

All questions are compulsory. - o o '!

(i) 5% 577 3 7 aﬁmﬁwp&rw% R

Marks of each questmn are indicated agamst it.

(iti) 597 &% 1 & 15 ﬁfﬁa@%@rmrgxmwaw 37 77 & P wd o o
FTCGraH 7 frgd &

Question Nos. 1 to 15 are objective type questions carrymg 1 mark each.

Candidate have to wnte the correct answer in their answer-book.

(iu)#?ﬁfﬂﬁ?"w’lﬁ 7 23 ﬁf?fﬁﬁ%ﬁwg(n’ﬂrﬁ’% 757 & HEF J97 2 STHl F &1 FAF FIT
FIY THT 30 =] F &Iory

Question Nos. 16 to 23 are very short answer type questions carrying

L e

2 marks each. Answer these in about 30 words each.

(v) 537 F% 24 T 31 TF TLAIAF J97 8 JA%F J97 3 SH I & gos yea a7 g
TTHT 40 gr=] 7 Forgr

Question Nos. 24 to 31 are short answer type questions carrying 3 mdrks'. :

each. Answer these in about 40 words each.
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Question Nos. 32 to 34 are long answer type questions carrying 5 Jﬁmrks
each. Answer these in about 70 words each. £
i) TG F T @y @ A R T & a5 o at @ e § eaRes T
JeTT 5T /R & OF gt ¥ @ oNH BT OF & J97 FHEA 8
There is no overall choice. However, internal choice is given in all long
answer type questions of 5 marks each. You have to attempt only one of the
given choice in such questions. |
(aegfTs rm)
(Objective Type Questions)
1. 2.005 % @refs i P wE § s ey TR P 1
(A) 2 B) 3
(C). 4 (D) ST

Number of significant figures in 2.009 :

(A)
(C) 4 (D) Infinite
CO, &1 AT F&FHH & 1
(A) 22 (B 38
C) 44 ' it 68 Ty
Molar mass of COz 1s :
(A) 22 |  (B) 38
(C) 44 LI - (D) 28
P. Tp@s:
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3.

ﬁmﬁﬁﬁ%ﬁﬁ@r%\#ﬁw T & ?

4. -1p. | (B) 2s

(C) 2p' ' " ' (D) 3d

Which of the following orbitals is not possible ?

(A) 1p - v H e ot TPl 48

(C) 2p | (D) 3d

(A) TR ._:[1_3) JYHET

(C) &S Co (D) EFed B g 1 R

Principal quantum number represents :

(A Shell - " (B) Subshell

(C) Orbital il (D) Orientation of the spin of electron
d-adife qar H AE AT [ © . _ : . | 1
(A) ns? nd" " _ i s B s DT g™

(C) ns®? nd*10 (D) (n- 1)d"1° ns?

General electronic configuration of d-bltjck elements is :
A) nnd0 (B) (n-1)d"'° ns*2

(C] nsﬂ-ﬂ ndlmlﬂ i g . 5 (D} ('ﬂ_ - lldl—-].[] nsﬁa.
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6. TIE-16 & Tl PT FHa[ A D G R O T OBER RaRdL T 1
(A) B

ﬁ

(B) HI=hivH
(C) A&d AT
(D) ST & Fl3 &l

Group-16 elements are known as :

(A) Halogens
(B) Chalcogens
(C) Noble gases

(D) None of these

7. Prefeie wo & @ A o oGl & R @d a@E e i

(A) ST STHT S-S g § TIY T BN B
(B) ¥ & dRON & E-1 | Wﬁﬂﬁ B .
(C) T HIA-MUH 3ad H G4 qrfRT m—g’ ¥ fis
D) T o T T ¥ SR A A awdh ¥

Which of the following statements is not true for alkali metals ?

(A) These are IargeSt in size in their respective periods.

@B) These belong to Group-1 of periodic table.

(C) These are strongeét metals in their respective periods.
(D) Ionization enthalpy of these increases down the group.
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A) s , B) sp’ . '
(C) sp (D) sp2d

Hybrid state carbon in CyHy is :

(A)  sp? | (B) sp?
(C) sp | (D) spd
9. TSN & o Fre & e ww A ;. i 1
(A) AU=g+ w (B) AU=gx w
(C) AU=-gq-w ', (D) AU=w-q

Mathematical statement of first law of thermodynamics is :

A) AU=g+w A I I R GB '-.ff:«.U='"é_>< w
([C) AU=—qg-w Mg D) AU=w-gq

10. feh < b & @ Tt A% 3 Riw AG B ¥ - e _ 1
(A) TS — . (B) wH

C) = e o) sephis (D) 9 & A &
For a process to be spontaneous, AGJ is :
(A) Negative | (B]' Positive

) |
(C) Zero g I gl e (D) None of these
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11, Frefofed & & -1 qw o 7w 7 iy
(A) HO (B) BCL
« F (D) H,0

Which of the following is not a Lewis base ?

(A) HO (B) BCl,
C) F ' (D) H,O
12. SIS 8 NH, % fg dgeh o - .
(A) NH, (B) NH,'
) NH, ' R

Conjugate acid for the Bronsted base NH, is :

() NH, ' | B) NH,

(C) NH, (D) N,

13. qrgEer & AR Hy(g) + L (g) = 2HI (g) % o arameen Ri® K. 3 K, 7 &9 &

Hafved § | 1
(A) K,=2K, (B) K¢> Kp
C) K. K. | (D) Kp=Kc

In the equilibrium reaction Hy(g) + L, (9) = 2HI (g) equilibrium constant K, and

K, related as :
(A) Kp=2K, (B) K> Kp
(8] Ko (D) Kp= K¢
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15.

16.

17.

18.

19.

. 2329 | | - RTSL e

<(8)
K;MnO, ¥ Mn & Sl e ... gl T
Oxidation number of Mn in KMnO, 18 .......... ;
CH,=CH-CH,~CH, £ CH,~CH =CH-CHj & : ;L o 1
(A)  EaT w&r (B) 9 4Gyl
(C) FracT® e quEad! (D) HeaEad
CH,=CH-CH,-CH; and CH,-CH =CH-CH, are :
(A) Chain isomers R | (B) Poéitign Isomers
(C) F‘uﬁctiﬁnal is.t.}me.rs. e | (D] Metame.rs-
(- )

(Very Shaft Answer Type Questinhs)

o ST & W @ 'HEE o T 2

Explain the law of multiple proportion.

II3al & . STUgS G &l T Hifory| | | = 2

Explain Pauli Exclusion Principle.

AT BIEGIOT SN IaTeT Hied TSRy 2
Explain intra-molecular 'hydfc}g-eﬁ bond with example.

TN Be-H &Y g4 B, G0 BeH, 317 %1 faga oMol 70 81 &< Fiftmy 24
Explain why BeH, molecule has zero dipole moment, although the Be —H bonds

are polar., . 5 T eme y3 G - g
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; T=300 K QW Rt 10 g 1 AT BT ? R = 8.314 JK ! 'mol !,

2

~ .The equilibri
, q lUm constant for a reaction is 10. What will be the value of AG® ?

R =8.314 JK™ mol !, 7= 300
21. W™ 2H, (g) + CO (g) = CH,OH (g) 94X Y979 &dse ¢+ 2
i) H, M 1

(i) CH,OH & ®

On the equilibrium of reaction 2H, (g) + CO (g) & CH,OH (g) describe the effect
of :

(i) addition of 2 A
(1) removal of CH;OH

22. TAGCHNG TG 71 & 7 IIE AT 2

What is electromeric effect ? Give example.

23. YROiFHEE gAE 4 ® 7 §F Sal ahl W v C2
What is Peroxide effect ? Explain giving one example.

CECRUCERE)

(Short Answer Type Questions)

24, qﬁa%@aﬁﬂﬂﬁﬁmﬁﬁmﬁﬁﬁﬁﬁmW@?ﬁaaﬂﬁa—eﬁomo%
(A & fp ot 0 99 1 ) | - 3

Calculate the molarity of a solution of ethanol in water in which mole fraction

of ethanol is 0.040. (assume the density of water to be one)
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25

Pt o ovad ¥ e o R s R A ¥ 2 g o @ aren oy B

TR HET 7T | - . 3

" How do atomic radius vary in a period and in a group ? How do you explain

- 26.

27.

28.

the variation? =, .
ARSET AR Ll W
% x

WWWWWWWWIMWH%WWW

T 7 SR i FPES 3

Write the molecular orbital electronic configuration of O, molecule. Calculate
its bond order and indicate*-its".mﬁgnetic properties. -

rioae = R i | 3
() fader o

(i) =<
(iii) STFTsRAT I A e

Define the following terms :
(i) Extensive properties
(i) Closed system

(11 Standard enthalpy of reaction

() w%aﬂﬁ%gﬂw'ﬁaﬂqwﬁwﬁ%? £ 3

"What do you understand by ionic-product of water ?
(b) 0.05 M Ca(OH), Re@ 1 pH s iR ' 2

Célli:ulate_ the pH of 0.05 M solution of Ca(OH),.

2329 |
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MnO, (aq) + I'(aqg) — MnOg(S] + I (s)
Bal ; '
alance the followmg €equation in basic medlum by ion- electmn method :

Mn04 (aq)+I aq]——:rMnO[S]"’I()
30. %W%IUFACWW SRS 3

| B
() CHy;-CH-CH,-C-OC,H.

|
OH

?2H5

(i) CH,~CH=CH-C-COOH
* |

CH,
?OOH
(iii) @
NO,
Write IUPAC names of the following compounds :

i

(i) CHS—?‘HPCHQP C-OC,Hs

OH
ZHS
(i) CH,~CH=CH-C-COOH o s _ b +
. EHS o T .
P pigiatnd’
(i) e St el | . o ™ -
2329 NO, | ?.__T_._ &

Download from www.MsEducationTv.com



: KT . B f . (B
.-."ifi F% e ( 12 ) . |
B UM T ¥ - '
."."|.”"| - | -..lll

3
(11] + W HNOE - W HQSO{]" >
OH
A
(111) +Zn —>
Complete the following reactions :
OONa
(1) + NaOH Cio >
NO,
- . HxSO
(i) $ o, HNO, ——mi- a0
H
(111) + Zn A >
(End s )
(Long Answer Type Questions)
32. (a) TE(HIE Afew B AT FT & 7 | - 2
| What are drawbacks of Ruthérfﬂrd model of atom ?
~ (b) PR e ¥ Q@ A RIS Tl B A A 7 5

What is significance of negative sign for the energy of electmn in a shell ?

 2529;h
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What does dual behaviour of electro-magnetic radiation means ?
Y T
OR

(a) TTIfciET i ol #$ivm : | 3

Define the following :
Q) " e o -
thtaeleétfic efféct
(i) ICT &
Wave number
(iii) THHN HETD

Degenerate orbitals

(b) TRTT a9 X ST G ST # aeres (A) 580 nm Bl EEE PR (v) 8K

T G (D) B U it 5

Yellow light emitted from a sodium Iarrip has a wavelength (A) of 580 nm.

Calculate the frequency () and wave number (D).

33. (q) maﬁm_mwﬁméﬁmﬁﬁ%ﬁWﬁwﬁuﬁww%@m@?s

How will you detect the presence of sulphur in an organic compound by

Lassaigne's test ?

2329 P.T.O.
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(b) HISTY ST H 0.3780 g $|'Efﬁ‘-|25 g -m??lﬁﬁ q 0.57 40 g%IW T

=)

0.3780 g of an organic chloro compound gaﬁe 0.5740 g of silver chloride

in carius estimation. Calculate the percentage of chlorine present in

compound.
e
oR _
ﬂéﬂwﬁ?ﬁwaﬂﬁ%?mﬂidmﬂfﬁm@ﬁﬁaﬁﬁﬁm| 5

How are carbocations formed ? Explain their structure and stability.

34. f=iaRed # fosga ave #ifsa
Explain the following in detalil :

(@) oA ST9HeH | e g 5

Ozonolysis

(b) SHFEIEl Ufcreras oTRifshar @ franfafy ; | 3

Mechanism of electrophilic substitution reactions
HYCT

| 1 OR s

(a) [rfeiaa siffsramatt Eﬁf‘ﬂ:ﬂ CAIT I | 3

Paro "

() CH,- C=CH+ H,

=

PR R £ PR LY.L AR

Foid AICL,

i) (O)+ CH,cOC!
2329 '
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Complete the following reactions :

() CH,~Cm=cCH+H, 12IC

¥

i) CHyCl+H, “HH |

(i) @ + CH,COCI Anhydrous AlCl;

(b) TWF & T & GaRka ge@qEt & g AT Fauer g S E 2

Draw Newman's projection for the eclipsed and staggered conformation of

ethane.
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